Install the pole mount bracket (9) in the
‘middle hole of the main pole (1) by bolt
(12) as shown.

‘make sure the pole mount bracket (9) is
at the back of the main pole (1) for other
assembly.

@ nstall the srew-jack assebly (7) to lower
clevator tube (5) by bolt (11)as shown.

@Attach the screw jack assembly (7) to pole

mount bracket(9), using bolt (13).

@ Finally, install whole assembled basketball
system to the anchoibolt (10)at the ground,|
tighten all the nuts on bolts.

Install net (4)
o

PARTS LIST

@ Dig a pit at selected ground with suggested

Inground Basketball System

Instruction Manual

|

Item Qty. ription Item Qty. Description
11 Main Pole 0 4 Anchor Bolt
2 1 Backboard n 3 Bolt, M20 X 280mm
301 Rim 2 2 Bolt, M12 x 180mm
4 1 Net 131 Bolt,M12 x 120mm
51 Lower Elevator Tube 1“4 Bolt,M12 X 60mm
6 1 Upper Elevator Tube 15 1 Safety Bolt, M20 X 280mm
7 1 Serew=Jack Assembly 16 4 Bolt,M10 X 30mm
g 1 Crank Handle
9 1 Pole Mount Bracket

1.

2.

i

i) oD
13 14

A SAFETY INSTRUCTIONS A

Owner must ensure that all players know and follow these rules for safe operation of the system.
safety, d mpt ta assemble s system without following th instructions carsuly.Check sntre
i e Faching reura o o dditional instruction mat re beginning assembly,
the instructions and identify parts using i haroware onlor and parts ist in this document. Proper and complete
assembly, prope to reduce injury.
A high probability of serious injury exists if this system is not installed, maintained, and operated properly.

< Husng a addar dung assambly, use xtrem
+ o (2) capai chl o recommendadfor
« Clim; o mirme okl i sysl-m et
 Minimun opera ight s &6 (198 m o the bttom of backboar
o e ‘warning label affixed o pe
« The life of your basketball pole depends on many o The climate, placement of the pole, location of the pole,
‘exposure to corrosives such as pesticides, herbicides, or salts are all important.
+ Adult supervision is recommended when adjusting height.

|A Seorewsing s prodet >+ ™| HEIGHT ADJUSTMENT
WARNING | Foiiorces o [T

in serious injury andor property dam:
Owner must ensure that all players know and follow these ml-s

® o 2 .
r safe operation of the system.
- [+ DO NOT ort
braces ormet raise and lower backboard
o ey by P .
il
o 7. /
o
DL " Klz tc.). Objects may 7}
it
J QO omodioaly. o !}
= = signs of corrosion and repairbeforo us
| Check system before each use for instability.

pPLy i

dimension of 50x50cm,put gound bolts(10)ingde
as shown. Fill the pit with concrete. Take the
main pole away (1) only for basketball syster

assembly after the concrete is set.

@ Assemble backboard (2) and rim (3) by bolt
(16), as shown.

Wood
\ 1
—10

50X50cm

ttach lower elevator tube (5) and upper
elevator tube (6) on backboard (2) by 4pcs
bolt (14) as shown.

1.Attach lower elevator tube (5) and upper
elevator tube (6) to main pole (1) by
bolts (11) as shown.

2. Fix safety bolt (15) on the main pole
(1) above the lower elevator tube (5) as
shown,this is for holding the lower elevator

tube (5) at the lowest height.




